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ENGLISH

Directions for Q1 to 5: Read the following
Passage and answer the questions by choosing
the most appropriate option:

Tools and Weapons in Neolithic Age

One of the remarkable achievements of the
Neolithic Period was the invention of wheel. It
brought a rapid progress in man'’s life. The wheel
was used in horse-carts and bullock-carts that
helped man a lot to carry heavy loads. Therefore,

. in this period, transport became quite easy and
quick. The wheel was also used for spinning and
weaving. It also helped in pottery. Man made
beautiful pots to keep foodgrains and store
water.

_The tools and weapons of the Neolithic Age are
better and sharper than the Palaeolithic Age.
Now, a polished stone called celt was used to
make tools. Some new developed tools like
sickles, bows and arrows and improved axes were
made in the Neolithic Age. These tools were used
for various purposes like, the axe was used for
cutting down trees, sickles to harvest the crops
and arrows to hunt animals.

Q1. What was the most significant discovery of
the Neolithic Period?
(A) Invention of wheel
(B) Sharper tools
(C) Axes for cutting of trees
(D) Horse-carts

Q2. How was the invention of wheel useful in
storing food grains and water?
(A) Man used wheels in carts to carry food
grains and water.
(B) Man made sacks by using wheels in
spinning thread and stored food grains in
them.
(C) Man made pots with wheel and stored
food grains and water,
(D) None of these

(3)

Q3. What was the difference between tools of
the Neolithic Age and Palaeolithic Age?.
(A) Neolithic tools were sharper and better.
(B) Neolithic tools were made of rocks.
(C) Neolithic tools were more easily made.
(D) There was no difference between the

two.

Q4. What was celt?
(A) Celt was an old weapon.
(B) Celt was a sharp weapon.
(C) Celt was a polished stone used to make

tools.
(D) Celt was a polished weapon used to cut

the trees.

Q5. In which age was man more advanced, the
Palaeolithic or the Neolithic?
(A) The Palaeclithic Age
(B) The Neolithic Age
(C) Equally advanced in both the ages
(D) None of these

Directions for Q6 to 13: Read the following
passage carefully and use correct options to
answer the questions that follow:

Fruit flies are tiny insects that are attracted to
ripe or rotting fruits and vegetables. The flies not
only eat the fruit, but they also lay their eggs
there. A single fruit fly can lay up to 500 eggs on
the surface of a piece of fruit. Within eight days,
the fruit flies that hatch from these eggs are full
adults that can then lay their own eggs. As you
can see, what might start out as a small fruit fly
problem can become very large, very quickly.
Although there is a chance that fruit flies can
carry germs on to your food, this is not very likely.
Fruit flies are annoying, but they probably will not
hurt you. Because they are such a nuisance, most
people want to get rid of these pesky bugs as
quickly as possible. Some people use pesticide
sprays on the fruit flies. Although this will kill the
flies, it will also spread harmful poison all over
your kitchen.

Q6. Why are fruit flies so called?
(A) They live in only ripe fruits,
(B) They prefer to eat only rotting fruits.
(C) Their young ones grow on fruits.
(D) They thrive on fruits,

SET-A/CLASS-VI/2025-26

(¥ Scanned with OKEN Scanner



Q7. A single fruit fly can lay upto
(A) 5000 eggs in every fruit.
(B) 500 eggs under the fruit.
(C) 500 eggs.
(D) 500 eggs per week.

Q8. It takes about a week
(A) for the fruit flies to lay eggs.
(B) for the eggs to hatch.
(C) for the hatched fruit flies to grow fully.

(D) for the hatched fruit flies to eat the
fruit.

Q9. Most people want to get rid of fruit flies
because
(A) they spoil the food.
(B) they consume the whole fruits.
(C) they carry germs.
(D) they annoy people.

Q10. It can be understood from the passage that

the best way to get rid of these fruit flies is
to

(A) leave the fruit uncut.

(B) keep the fruits covered.

(C) sprinkle pesticide on the insects.

(D) Sprinkle pesticide outside the kitchen.

Directions for Q11: Choose the correct options:

Q11. Rearrange the jumbled word.
WEJEEYLLR
1 23 456 7809
(A)321987654
(B)321478596
(C)896321457
(D)754132698

Directions for Q12-13: Rearrange the parts of
sentence that have been labelled as A,B,C Dto
make meaningful sentences. Choose the correct
option.
Qi2.

A. entered the shop

B. of a theatrical company

C. the jnvisible man

D. for clothes,

(AJABCD
(B)BACD
(C)ADBC
(D)CABD

4)

Qi3.
A. Ate delicious seafood slowly in the
French restaurant
B. and cooked meat very slowly on the
stones outside
C. we played sports slowly
D. sailed slowly to other island,

(A\CD A B
(B)CABD
(OB CAD
(D)ACBD

Directions for Q14: Select the option that
identifies noun in the following sentence:

Q14. The Trojans’ rash decision to accept the
wooden horse led to their destruction.
(A) Their (B) Led
(C) Accept (D) Destruction

Directions for Q15 to Q18: Choose the correct
adjectival phrase from the options given below:

Q15. While | was walking in the garden, | saw a

butterfly.
(A) coloured brightly (B) brightly coloured
(C) bright colours (D) brightly colour

Q16. Sam went on a
the mountains.
(A) longish and ardently
(B) long and short
(C) long and arduous
(D) long or arduous

journey across

Q17. Shivu is singing a song.
(A) A song has been being sung by Shivu.
(B) Asong s sung by Shivu.
(C) A'song has being sung by Shivu.
(D) A song is being sung by Shivu.

Q18. They may win the battle,
(A) The battle may be win.
(B) The battle may be won,

(C) The battle may be won by them.
(D) The battle may won.
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Directions for Q19: Fill in the blank with the
correct option:

Q19. My sister has to travel abroad for work. She
wants me to look after her two-year-old
daughter in her absence. | will be picking up

my on my way home from
work today.

(A) niece (B) nephew

(C) sister (D) cousin

Directions for Q20 to Q23: Read the passage and
answer the questions that follow:

Every year large numbers of plastic bottles wash
up on the beaches. However, this problem can be
solved if the new plan is brought in, as suggested
by the scientists. In the new scheme, fishermen
will be encouraged to round up plastic bottles
with their fishing nets. They can then sell these
and cash in on the rising price of old plastic. The
recycling centres can then turn toxic waste into
packaging. Scientists believe, this scheme will
compensate fisherman for the loss of income due
to more and more people turning vegetarian.
Scientists aim to bring in this scheme soon before
the fishermen are forced to sell their boats.

Q20. What does, ‘bottles wash up on the beach’
mean?
(A) Bottles are washed on the beach.
(B) Bottles are left behind by people visiting
the beach.
(C) Beach is washed by the bottles.
(D) Bottles arrive on the shore, carried by

the waves.

Q21. Old plastic is made into useful things in a

(A) fishing net. (B) science lab.
(C) recycling centre. (D) beach.
(5)
ey v s =T e

Q22. What is the new scheme?
(A) Fishermen gather plastic bottles and sell

them.
(B) Fishermen encourage scientists to use

fishing nets.
(C) Fishermen are encouraged to make a

circle with the nets.
(D) Fishermen use fishing nets to make

around bottle.

Q23. Which word in the second paragraph means

‘changing habits’?
(A) Compensate (B) Forced
(C) Turning (D) Income

Directions for Q24 to Q25: Choose the noun for
the home of the given animal:

Q24.A of an ape.
(A) barn (B) den
(C) hill (D) nest
Q25. A of a dove.
(A) roost (B) cote
(C) nest (D) burrow

Directions for Q26 to Q41: Choose the correct
option to complete each sentence:

be something wrong.
(B) shall
(D) ought

Q26. | felt there
(A) must
(C) have

Q27. The teacher asked the students to
the corrected answer sheets.

(A) go over (B) go ahead
(C) go out (D) go into
Q28. Rohit wants to change his seat he
cannot see from here.
(A) however (B) when
(C) because (D) yet
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Q29. You look worried, Sameer, What

you?
(A) was troubled

(B) is troubling

(C) trouble (D) will trouble
Q30. The earth is thicker at equator.

(A)a (B) an

(C) the (D) No article

Q31. Learning grammar can be —
interesting task.
(A)a
(B)an
(C) the
(D) No article required

Q32. | have visited farms which grow

paddy.
(A) a large area of (B) much
(C) little (D) some

Q33. The leaping
fun to watch.

of dolphins was

(A) army (B) school/pod
(C) colony (D) nest
Q34. she going to be late for
the concert?
(A) Is (B) Has
(C) Be (D) Does
Q35. Deepak is a healthy boy. He falls ill.
(A) often (B) seldom
(C) always (D) usually

Q36. Mom: Hari, have you posted the letter?

Hari: | already it,
(A) will, post (B) am, posting
(C) have posted (D) did, posted

Q37. it is dusk, the cows return.
(A) While (B) Though
(C) When (D) Therefore

(6)

Q38. a bandh today. there
any cars on the street?
(A) Its, Have, seen (B) It's, See, goin o
(C) Its, Were, running (D) It’s, Are, Moving

Q39. ! a shirt that
me more than this ____, because that g
of a better quality.

(A) Once, bought, cost, one

(B) Then, bought, costed, one
(C) Once, brought, costed, shirt
(D) Once, brought, cost, one

Q40. The director the actors to play
the lead in the movie tomorrow.
(A) will be auditioned
(B) will be auditioning
(C) shall have audition
(D) shall auditioning

Q41. Dr Mukesh Chandra, who is a big name in
cardiology,
two years ago.
(A) has inaugurated . (B) inaugurates
(C) had inaugurating (D) inaugurated

our nursing home

Directions for Q42: Fill in the blanks with the
suitable conjunctions from the given options :

Q42. Anita had fever, she didn't
go for the picnic.
(A) Nor (B) Since
(C) And (D) still

Directions for Q43 to Q45: Choose the correct
synonym of the given word:

Q43. Awry
(A) Assign (B) Straight
(C) Dry (D) Wrong
Q44. Obscure
(A) Plain (8) Open
(C) Confusing (D) Bare
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Q45. Extinct
(A) dead
(C) living

Directions for Q46 to 48:
antonym of the given word:

Q46. Sceptical
(A) Spurious
(C) Sarcastic

Q47. Vile
(A) Horrid
(C) Foul

Q48. Exhibit
(A) Conceal
(C) Change

(B) extant
(D) existence

Choose the correct

(B) Suspicious
(D) Certain

(B) Gentle
(D) Sinful

(8) Uncover
(D) Display

Directions for Q49 to 50: Choose the correctly

spelt word:

Q48.
(A) Ingeneous
(C) Inginious

Q50.
(A) Patronage
(C) Patornage

(8) Ingenous
(C) Ingenious

(B) Partenige
(D) Petornaege

(7)
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GENERAL KNOWLEDGE

Q51. What is the highest award in Indian cinema?

(A) Grammy Award

(B) Oscar Award

(C) Bharat Ratna

(D) Dadasaheb Phalke Award

Q52. What does the acronym NATO stand for?
(A) North Atlantic Treaty Organization
(B) National Association of Trade
Operations
(C) Northern Alliance Treaty Office
(D) None of the above

Q53. What is the largest bird in the world?
(A) Eagle
(B) Albatross
(C) Ostrich
(D) Peacock

Q54. Who was the first Indian to win a Nobel
Prize?
(A) C.V. Raman
(B) Rabindranath Tagore
(C) Amartya Sen
(D) Mother Teresa

Q55. Which is the highest civilian award in India?
(A) Bharat Ratna
(8) Padma Shri
(C) Padma Bhushan
(D) Padma Vibhushan

Q56. What type of animal is a penguin?
(A) Mammal
(B) Bird
(C) Reptile
(D) Amphibian

Q57. Who was the first Indian woman to win an
Olympic medal?
(A) Saina Nehwal
(B) P.T. Usha
(C) Karnam Malleswari
(D) Mary Kom

(8)

Q5|1 T Fem i Wil O 1 61 &7
(A) It gEEFT
(B) SHTER TN
(C) T T
(D) T |Ted Fieh T

Q52 T3 1 BFAW & 18?7
(A) T Fretife S S
(B) ¥l TRITHTI 3% $2 HTowH
(C) A e i Hiftra
(D) T & IS T

Qs3. fore o1 A g vt A A R?
(A) ¥

(B) Irc=EE
(C) Traet

L0 IR ]

(D) AR

QS54. TeIeT R ST aTel Uaet W F19 7
(A) grdt.
(B) Wz 3t
(C) 3|ed &
(D) Wt e

. QS5. WA T Hell=d TN WEhT 1 71 27

(A) 9FE
(B) =T 2t

(©) g
(D) vt fengan

QS6. T o s ot s 29
(A) &Rt
(B) gt
(C) wirgy

(D) TR

Q7. 3 weeh St et wael sy wfeen A A
(A) BT Feare
(B) f12. 3m

(C) T et
(D) ¥ g
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Q58. Which country is known as the “Land of the
Midnight Sun”?
(A) Norway
(B) Finland
(C) Iceland
(D) Sweden

Q59. What is the smallest ocean in the world?
(A) Indian Ocean
(B) Atlantic Ocean
(C) Arctic Ocean
(D) Southern Ocean

Q60. What is the name of the largest rainforest in
the world?
(A) Congo Rainforest
(B) Amazon Rainforest
(C) Daintree Rainforest
(D) Valdivian Rainforest

Q61. Which Indian city is also known as the
“Silicon Valley of India"?
(A) Hyderabad
(B) Mumbai
(C) Chennai
(D) Bengaluru

Q62. Who was the first person to circumnavigate
the globe?
(A) Vasco da Gama
(B) Ferdinand Magellan
(C) Christopher Columbus
(D) James Cook

Q63. Which planet is known for its rings?
(A) Jupiter (B) Neptune
(C) Saturn (D) Uranus

Q64. What is the smallest bone in the human

body?
(A) Femur (B) Tibia
(C) Humerus (D) Stapes

(9)

Q58. e 3T 1 "ammeft Tra 3% gye <Ay Ay FATH
AT STl 87
(A)
(B) fFeis
(C) HEeiS
(D) &z

Q59. fora =1 Wl TieT HETAWT i A1 82
(A) fég weramm
(B) 372eiifesh WETET
(C) HrHfeah HEETR
(D) zfeoft FerEmR

Q60. 3 % e a2 Fufa 1 AT R?
(A) it aufa

Q61. FFa WIRelrr rew 1 e Y Rfersh e FAW E
+f} ST ST 87
(A) TEER
(B) w§
(€) ¥
(D) sTege

Q62. & =7 Tt eI aTel W =i B 47
(A) Tt €T

(B) ®i&+e W
(C) Ferdiet hietam
(D) S T
Q63. 9 |1 & Y= Booit o [o¢ STHT STl 87
(A) Fewfer (B) A9=g
(©) W (D) 48
Q64. HHE T T ol BT Tael i €l 22
(A) 1T (B) feferan
(C) T (D) R
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Q65. What is the Longest River in Asia?
(A) Ganges River (B) Mekong River
(C) Yangtze River (D) Indus River

Q66. Which is the National Animal of India?
(A) Elephant (B) Peacock
(C) Tiger (D) Lion

Q67. Who was the first man in space?
(A) Yuri Gagarin (8) Neil Armstrong
(C) Buzz Aldrin (D) John Glenn

Q68. Which ocean surrounds the Maldives?
(A) Atlantic Ocean (B) Indian Ocean
(C) Pacific Ocean (D) Southern Ocean

Q69. Who invented the telephone?
(A) Alexander Graham Bell
(B) Nikola Tesla
(C) Thomas Edison
(D) Guglielmo Marconi

Q70. Who painted “The Last Supper”’?
(A) Michelangelo (B) Raphael
(C) Leonardo da Vinci (D) Donatello

Q71. What is the Largest Continent by land area?
(A) Africa
(C) North America

(B) Europe
(D) Asia

Q72. Which country is famous for the festival of '

“La Tomatina”?
(A) Mexico (B) France
(C) Spain (D) Italy

Q73. What is the name of the process by which
plants produce food?
(A) Germination
(B) Pollination
(C) Respiration
(D) Photosynthesis

(10)

Q65. ufirar 1 T wft T F i R

(A) T AR (B) Mt 7t
(C) et 7T (D) g 7
Q66. TG =T T YT 1T &7
(A) &t (B) Tt
(C)am™ (D) fiz
Q67. Fiafter # ST ATl &< 3Afth F17 41
(A) Zh e (B) it 3mizgin
(C) & ufegA (D) S 7o

Q68. HTETTE I I |T HETATT BT 27
(A) IR merarR  (B) f&e gemmm
(C) TTid HETETR (D) 2féft merarm

Q69. Tl ot anTfershm e foram?
(A) IS UG =
(B) fFepter 2=t
(C) dmw ufee
(D) TfteTeHT AT

Q70. "2 vz wut" fora Fafa fomam
(A) TTEH TSIAT (B) Uhed
() feamret ar fa=ht (D) AR

Q71. A% 1 5fF & Tl ST WRTEI F |1 87
(A) ST (B) 79
(C) It T (D) Tf¥mn

Q72. " EreAT" JeR & fau FF arsn afag €2
(A) A=t (B) WiF .
(C) & (D) Fe<it

Q73. 38 ufshar =t =41 7 & foress g O oieq 39

F 87

(A) 3

(B) warTor

(C) T

(D) WeHTI1 HAHor
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Q74. Which scientist is known for the discovery of
penicillin?
(A) Louis Pasteur
(B) Alexander Fleming
(C) Marie Curie
(D) Robert Koch

Q75. What is the basic unit of ‘Heredity’?
(A) Gene (B) Chromosome
(C) DNA (D) RNA

Q76. Which is the largest lake in the world by
surface area?
(A) Lake Superior
(C) Caspian Sea

(B) Lake Victoria
(D) Lake Michigan

Q77. Who invented the World Wide Web?
(A) Tim Berners-Lee
(B) Bill Gates
(C) Steve Jobs
(D) Mark Zuckerberg

Q78. Who is the author of “Alice’s Adventures in
Wonderland”?
(A) J.K. Rowling
(C) Roald Dahl

(B) Lewis Carroll
(D) Mark Twain

Q79. Which country is known as the “Land of the
Rising Sun”?
(A) China
(C) Thailand

(B) South Korea
(D) Japan

Q80. Which ocean is known as the “Herring
Pond"? '
(A) Indian Ocean
(B) Atlantic Ocean
(C) Pacific Ocean
(D) Southern Ocean

Q81. Which ocean is the Bermuda Triangle
located in?
(A) Pacific Ocean

(B) Indian Ocean
(C) Arctic Ocean
(D) Atlantic Ocean
(11)

Q74. Yffaferm it @ & foe 9 a1 dnfaes s s
Ly

(A) TE 2R
(B) ST R
(C) Bl i
(D) T i
Q7S. *IATTETITRaT &1 7l TS 341 €7
(A) S (B) TvrgA
(C) g (D) 3T
Q76. &ahet <1 2 & foag i wad =i 3w a2
(A) it et (B) ferrifen <fiet
(C) Ffag= grR (D) fafsrm e
Q77. Ts aTgs A &l HAMfashi e fera?
(A) o sid <
(B) foret iz
(C) Ea Sireq
(D) AT et
Q78. "iferer TEdTH A AT & oI@d B 87
(A) 3.3, TR (B) g4 Het
(C) Ares TRt (D) 71k g

Q79. foFu et ey Tt Y wafer 3 A & s S
&
(&) =i
(C) TS

Q80. T T HETEIR " FaT arerra” & =M & 1 ST &2
(A) fez weramR
(B) 31T HEWIT
(C) STid HETETT
(D) et TRTETR

(B) afévr sifean
(D) ST

Q8 1. TogET gt foFm weram # fiera &2
(A) 99TTd HEHETR
(B) &= wemamR
(C) 3Mhfeah TR
(D) eI Weramm
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Qs2.

Qa3.

Qsaa.

Qs8s.

Q8e.

Q87.

Who isthe current President of the United
States?

(A) Donald Trump
(B) Joe Biden

(C) Barack Obama
(D) Kamala Harris

Which country hosted the 2024 Olympic
Games?

(A) United States (B) France

(C) Japan (D) China

Which Indian space mission recently
explored the Moon's south pole?
(A) Mangalyaan
(B) Chandrayaan-2
(C) Gaganyaan
(D) Chandrayaan-3

Which country won the ICC Men'’s Cricket
World Cup in 20237

(A) India

(B) Australia

(C) England

(D) New Zealand

Which country recently left the European
Union?

(A) Germany
(C) France

(B) Italy
(D) United Kingdom

Which country recently joined the BRICS
group?

(A) Argentina

(B) Saudi Arabia

(C) Canada

(D) Australia

Q88. What is the name of the famous electric car

company started by Elon Musk?
(A) Tesla (B) SpaceX
(C) Blue Origin (D) Amazon

(12)

Q82 HegeF T ST % FGH Tl 7
(A) 28 79

2024 T Tel =t Ao R 2 Y 4p
(A)ﬁgﬁﬂﬂaﬁﬁﬁ (B) wi|
(C) ST (D)

Q83.

Q84. Brel €1 & form st Siafee e 3 <izmn 3 ey ,

g4 T qd] <
(A) HTeTIH
(B) Si7AM-2
(C) T
(D) S5aM-3

Q85. 2023 % ICC &7 firke o = v 3 S <fm
(A) W
(B) sirefer
(€ ¥
(D) Fsicts

Q86. BT €1 H Sl T 31 JUIE H H el &1 7/
(A) ST (B) 3e=it
© W& (D) FTses Fvrem

Q87. Bret €1 # ot a1 31 forar g & wmfiver gom
(A) =TT
(B) G 31
(C) Tt

(D) siegferan

Q88. TS ek T Y& i 718 Wi geifigeh 1 Al

T TR

(A) T (B)R

(C) =< 3o (D) 37t
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Qss.

Q9o.

Q91.

Q92.

Q9s.

Qo4.

Which planet is the largest in the Solar
System?
(A) Earth
(C) Neptune

(B) Saturn
(D) Jupiter

What is the name of the first man to step on
the moon?

(A) Buzz Aldrin

(B) Michael Collins

(C) Neil Armstrong

(D) Yuri Gagarin

Who was the first Indian woman in space?
(A) Kalpana Chawla

(B) Sunita Williams

(C) Valentina Tereshkova

(D) Sally Ride

Who wrote the famous play “Romeo and
Juliet”?

(A) Mark Twain

(B) Charles Dickens

(C) William Shakespeare

(D) Leo Tolstoy

Which African country is famous for its
pyramids?
(A) Nigeria
(C) South Africa

(B) Kenya
(D) Egypt

What is the smallest country in the world by
land area?

(A) Monaco (B) San Marino
(C) vatican City (D) Liechtenstein
. Who was the first woman to win a Nobel

Prize?

(A) Marie Curie

(B) Mother Teresa
(C) Malala Yousafzai
(D) Rosalind Franklin

(13)

Q89. Hitisd # gad TS U8 FH |1 8?
(A) Tt (B) Iif
(C) FT=7 (D) Tewf

Q90. <IZHT T FHeq T@A JTct T4 Afth 1 714 F1 22
(A) T T
(B) T3 Fifed
(C) et sl
(D) T e

Q1. 3fafeey ¥ S ATl Teell MR Afgen H1 i?
(A) FeT =1
(B) it farfera
(C) AT EThraT
(D) &hr g

Q2. wftrg e iifirat v wferae fr firan am
(A) T ZH

Q3. T |T STERR 397 377 st ¥ fo w22
(A) rshfeEr (B) &=
(C) aféor snshram D) firer

QO4. &het =l g | fore T vadl ST 3w A AT R?
(A) TR (B) &= &A@
(C) IR (D) fowe=m

Q9S. Teiet YRHTL i aTeft Teett Hieen i off?
(A) ROl
(B) et @

(GEEISIPEEEE
(D) Tefeie Fafem
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Q96. Who is the author of the “Harry Potter”
series?

(A) J.R.R. Tolkien

(B) C.S. Lewis

(C) J.K. Rowling

(D) George R.R. Martin

Q37. Who is known as the “Iron Man of India”?
(A) Mahatma Gandbhi
(B) Subhas Chandra Bose
(C) Jawaharlal Nehru
(D) Sardar Vallabhbhai Patel

Q98. What is the largest desert in the world?
(A) Sahara (B) Gobi
(C) Kalahari (D) Arctic

Q99. What is the hardest natural substance on

Earth?
(A) Gold (B) Iron
(C) Diamond (D) Granite

Q100. What is the name of the galaxy that
contains our Solar System?
(A) Andromeda (B) Milky Way
(C) Whirlpool (D) Sombrero

(14)

Q6. " HTEY" Hjei 3 STEF FH &7
(A) IR A, A
(B) HL.UE. T5H
(C) 33, T=fedm
(D) Siisl JIR.AR. HfeA

Q97. "TRA T witg T F T & fard ST ST 22

(A) TETeT TTiedY

(B) FoTT SH A

(C) SaTEETd HeE

(D) HTETT Tee¥TE 9eet
Q98. forg 1 el wrgT {41 27

(A) TERT (B) Tivelt

(C) FreTeTr (D) 3TTHfeH
Q99. TeA T el AN e TaTed i | R

(A) BT (B) =T

(D) ¥A132

© &

Q100. IH STTHIIF I 1 19 § Fored goT0 dR Hew
e &2

(A) dgrier (B) I
OESEE (D) B
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MATHEMATICS

Q101. A chakra has 24 spokes. What is the largest
acute angle formed between two spokes?
(A) 15° (B) 75°
(C) 85° (D) 45°

Q102. Closure property of integers will be valid
for:
(A) Addition
(C) Multiplication

(B) Subtraction
(D) All of these

Q103. The diagonal of a square is 4yZ m. What is
its perimeter?

(A)12m (B) 16 m
(C)24m (D) None of these
Q104. Find the value of:‘%;:z,
3 2
(A2 (B)2
(©)3 (D)2

Q105. Ratio of the area of a square to that of the
square drawn on its diagonal is:
(A)1:2 (B)2:1
(c)1:3 (D)1:4

Q106. If xy =6 and x+x%y +xy? +y = 63,
then x2 + y2 is:
(A) 23
(C) 69

(B) 55
(D) 81

Q107. A tree is broken at a height of 6 m from the
ground and its top touches the ground at a
distance of 8 m from the base of the tree.
Original height of the tree was:

(A) 16 m (B)10 m
(C)12m (D) 20 m

Q108. If @, b and c are integers then associativity
of integers under addition is given by:
(A)a+b =b+a
Blax(b+c)=axb+axc
(Cla+(b=c)=(a+b)-c
(D)a+(b+c)=(a+b)+c

(15)

Q101. W& =% ¥ 24 diferal et 81 &t et F o st

ST HFE FGT AV F AT BIell &7

(A) 15° (B) 75°

(C) 85° (D) 45°
Q102. yurfei ot dae frm forass ferg wr €

(A)Sig (B) Ter

(©) TR (D) 37 &+ft

Q103. T T &1 faemol 44/2 wfiet ) ze uftmy m 22

(A) 12 "X (B) 16 Hix

(C) 24 Hizw (D) 370 & = et
Q104.;‘+:;:1-ETWW#:

35 ®3

©3 ®)3

Q105. T 1 & &A% 1 6% fashvl T o a1 & She

GECKICES
(A)1:2 ®)2:1
©1:3 ®)1:4

Q106. 3R xy = 6 3R x + x2y + xy? +y = 63,7

x* 4+ y?FUAR:
(A)23 (B) 55
(C) 69 D) 81

Q107. U U5 Sft & 6 ¥fiex A e W zr g @ 3k
mwﬁ%%m%sﬂaﬁ@mmﬂwﬁ

I 81 U ot 7 et oft:
(A) 16 H (B) 10 Hex
(C) 12t (D) 20 HX

Q108. 3% a, b 31 c rter & < A % stk it <y
WTE=dal 36 YT &Y <ireft 2
Aa+b =b+a
®aX(b+c)=axb+axc
©a+(b-c)=(a+b)—c
Da+(b+c)=(a+b)+c

SET-A/CLASS-VI/2025-26

(3: scanned with OKEN Scanner




Q109. In the given figure, find the values of

xand y: A
X
500 ¥ D1 20°
B C D
(A) 75°, 60° (B) 95°, 45°
(c)70°, 60° (D) 90°, 45°

Q110. Find out the group of alphabets that have
both horizontal and vertical lines of

symmetry:
(A)X,H,0 (B)C X, T
@xyz (D)A, B, C

Q111. If 35% of a number is 12 less than 50% of
that number, then the number is:
(A) 40 (B) 50
(C)e0 (D) 80

Q112. Sum of two consecutive even numbers, the
difference of whose squares is 84 is:
(A) 34 (B) 38
(C)a2 (D) 46

Q113. 8988 +8 +4is:
(A) 4494
(C) 280.875

(B) 561.75
(D) 2247

Q114. Which one of the following numbers is

completely divisible by 45 ?
(A) 181560 (B) 331145
(C) 203550 (D) 202860

Q115. The largest 5 digit number exactly divisible

by91is:
(A) 99921 (8) 99918
(C) 99981 (D) 99971

Q116. The difference of the squares of two
consecutive even integers is divisible by
which of the following integers ?

(A)3 (B) 4
(C)6 (D)7

(16)

Q109. fru e o #, x 371 y &1 9 719 Fifsro:

A
X
500 y 120°
B C D (
(A) 75", 60° (B) 95°, 45°
(C)70°, 60° (D) 90°, 45°

QI10. 37 & & g a1 qar amg o dfesr s ¢
FeATUL, AT gaEydr @ g
(A)X,H, 0 (B)C, X, T
(C)XY,2 (D)A, B, C

Q111. afe fapdt G =1 35% I EETF 50% F 12 3% C

%, ﬁaﬁﬁ'@T%:
(A) 40 (B) 50
(C) 60 (D) 80

Q112. 31 SR | G 1 A0, foeas =it =7 e 4
[

(A) 34 ) (B) 38

(c) 42 (D) 46 c
Q113. 8988 + 8 + 4 ST A &I -

(A) 4494 (B) 561.75

(C) 280.875 (D) 2247

QI14. Freiferfiaa & & i ¥t die 45 A o e 2

(A) 181560 (B) 331145 C
(C) 203550 (D) 202860

QUIS. 918 Quie: farwret 5 o1t ot sy wrt W 2
(A) 99921 (B) 99918
(C) 99981 (D) 99971

QU16. 3 SFAPT w ottt 3 ait v sier it 7 2€
el Qe & Py 22

(4)3 (B) 4
(€6 (D)7
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Q117. If n is a natural number, then (6n? + 6n) is

always divisible by :
(A) 6 only (B) 6 and 12 both
(C) 12 only (D) 18 only

Q118. Reduce % to lowest term.
17 14
(A 3 (8) 3

€3 (0) 3

© Q119. The sum of two numbers is 528 and their
HCF is 33. The number of pairs of numbers
satisfying the above conditions is :

(A) 12 (B)8

(€6 (D)4

' Q120. About the number of pairs which have 16
as their HCF and 136 as their LCM, we can
definitely say that : '
(A) Many such pairs exist

(B) No such pair exists

(C) Only one such pair exists

(D) Only two such pair exists

Q121. Simplify
0.05 x 0.05 X 0.05 +0.04 x 0.04 X 0.04
0.05 X 0.05 — 0.05 % 0,04+ 0.04 X 0.04
(A) 0.01

(8) 0.07
(C)0.09
(D) None of these

Q122. How many digits will be there to the right
of the decimal point in the product of 95.75
and 0.02554?
(A)5
(B)6
7
(D) None of these

100_ »99
 Q123, Find the value of :_10'14-_;‘5
1 1
(A)3 (B)3
1 1
(©3 (0)5

(17)

QI17. Af n T WFfiF HEAm B, Al (6n + 6n) TFEE
qeq feprsa g
(A) 6 only
(C) 12 only

(B) 6 and 12 both
(D) 18 only

Qus.%:—;-aﬁa:maiaﬁﬁamﬁ.

(A5 ®)%
©5 ®)

Q119. 2 HETTY 1 A1 528 & TR ITH! HEwH WHITEF
(HCF) 33 21 S7Uh 711 o6 Q01 T At st &
SIS il e 8
(A) 12 ®)8
©6 (D)4

Q120. 39 Siifedt i g F =it # fear HCF 16 3K
LCM 136 3, w8 i s7 A Fe gahd & o5
(A) W F TS HSE ©
(B) Tt g <t Hie e @
(C) T T St i@ &
(D) Y S St AR 7

QI21. T &L
0.05 X 0.05 X 0.05 +0.04 X 0,04 X 0.04

0.05 X 0.05 — 0.05 X 0.04+ 0.04 X 0.04
(A) 0.01

(B) 0.07
(C) 0.09

(D) FA A FE 4

Q122. 95.75 3 o.ozss4%gmmﬁm%maﬁg

(A)5
(B) 6
(©)7
(D) S8 & i T
2100_ 299
Q123. Fr=fafad 1w s =t ST 5%
1 1
(A) 2 (B)E
1 1
©7 ()¢
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Q124. Simplify: -1% + :—8:

19 21
(A) (B) 762

19 23
(€)= 1) ey

Q125. Solve : 222 x 333
(A) (102)! (B) (108)?
(C) (102)3 (D) (108)"

Q126. Find the value of Vv9 — V8

(A)VZ -1 (B)VZ+1
©vV3-1 (D)V3+1
50+ V18
Q127. Solve : F—m“—_-
(A) 1
(B)2
(©)3

(D) None of these

Q128. Match the following :
1. Triangular Numbers
2. Hexagonal Numbers
3. Virahanka Numbers

a. 1,235,813, ...
b.12,6,3,10,5, 16,8,4,2,1
c.1,3,6,10, 15,21, .......
d.1,7,19,37, ...

(A) (1, b), (2,2), (3, )
(B) (1, ¢}, (2,2), (3,d)
(€) (1, b),(2,d), (3,2)
(D) (1,¢),(2,d),(3,2)

Q129. Which number is called ‘Kaprekar

Constant’?
(A) 495 (B) 196
(C)6174 (D) None of these

Q130. The vertex angle of an isosceles triangle
measures eight times the measure of a base
angle. The measure of base angle is :

(A) 18° (B) 24°
(C) 36° (D) 43°

(18)

7 1
—
120 48

(A) 5.5 (B) 326_12.

© 17 (D)2

Q125. T &L : 222 x 333
) (102)" (B) (108)2
(©) (102)° (D) (108)1t

Q126. V9 — V8 F AR T Fifd.
Avz2-1 (B)VZ +1
©)V3-1 D) V3 +1

Eﬁ.\/s—mm

QI27. T H: ———
(A1
B) 2
(©3
(D) & 1§ &

Q128. fr=fafiaa = fiem #t:
1. Preprfta demd (
2. SZFHIT HEATd
3, forgart wend

a.1,2,3,58,13, ............
b. 12,6,3,10,5,16,8,4,2, 1
c. 1,3,6,10, 15,21, ........
d1,7,19,37, ..........

Q124 THAH :

(A)(1,b), (2,2),(3, )
®B) (1,¢),(2,2),(3,d)
(©) (1,b),(2,d),3,2) Q
(D) (1, ¢),(2,d), (3,2)

Q129. fore TEaT Fi1 FToER Rytis Far 91 €7
(A) 495 (B) 196

(©) 6174 (D) S AT
Q

QISO-WWWWNH%WWW&W
T TS AT 81 AT HIoT 7 7 &:

(A) 18° (B) 24°
(C) 36° (D) 43°
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Q131. Number of line segments in the given

figureis:

A B D E C

(A) 4 (8)8
(C) 10 (D)11

Q132. In the given figure AB is a straight line.

Find (x+y):
D C
90°
Y 2x
A 3 B
10}6— *
E
(A) 55° (B) 65°
(c) 75° (D) 80°

Q133. How many degrees are there in an angle
which equals one-fifth of its supplement?
(A) 15° () 30°
(c) 75° (D) 150°

Q134. Two poles 15 m and 30 m high stand
upright in a playground. If their feet be 36
m apart, find the distance between their

tops.
(A)39m (B)49 m
(C)59m (D) 69 m

Q135. The perimeter of a circular field and a
square are same. If the area of square field
is 121 m?. Find the radius of the circle.

(A)7m (B) 14 m
(C)V14m (D) 10.5 m

Q136. Ifa + b + ¢ = 0, Find the value of
az b2

bc ' ca @ ab
(A)-3
(C)-1

(B)3
(D)1

(19)

Q13 1. fzu mu o # YararEi 1 wen 2:
L 1 1 1 1

I ] I L] I

A B D E C
(A) 4 (B) 8
(C) 10 (D) 11

Q132. f2u mu ferr 3 AB U it v 2. (x+y) F1AE I
L

D C
90°
Y 2x
A \r 3x B
105
E
(A) 55° (B) 65°
(C) 75° (D) 80°

Q133. e & 3 e 37 € & St 36F 9 & wiEd i
ﬁ@%mﬁm%‘? [
(A) 15° (B) 30° |
(€) 75° (D) 150°

Q134. 15 e 3K 30 WX 3 3 &Y T G & HIA 7
T2 & AfE T AR & o= FI gl 36 Hi B, A

it 35 ol o g0 i
(A)39m (B)49 m
(C)59m (D) 69 m

Q135. U IR FTH 3R U 1l &1 YRy §9F 21 3R

iR AQTH T &% 121 37 Hiet 31 9w &t Frsan
Fra Fif

(A)7m (B) 14m

(C)Vidm (D) 10.5m

Q136. 3f2 a+b+c=0, fr=t ferflaa FT o A =L
a?  bp? 2
be ' ca ' ab

(A)-3
(C) -1

(B)3
D1
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Q137. The length of a side of a Rhombus is 10 cm
and one of its diagonals is 12 cm. The length
of the other diagonal is:

(A) 10 cm (8)12cm
(€) 16 cm (D)8 cm
5x
Q138. If 2x + - = 5, then the value of =5

is:
(A7 (B)5
©3 ()3

Q13s. If x +§- =2 and x # 0, then the value of

x? +$ is:
(A)1 (B) 2
(€)3 (D)4

1+876543 X876545
Q140. Solve: —————
876544 X876544

(A)1 (B)0
(€)-1 (D) 2

| w

Q141 If x (3 —g) =2 Then find the value of
1
xz + x_z
22
(A)—g‘
-22
(B)',,—
—26
€=

26
(D) 5

®

Q142. Consider the following statements:
When two straight lines intersect, then:
1. Adjacent angles are complementary
2. Adjacent angles are supplementary
3. Opposite angles are equal
4. Opposite angles are supplementary

(A) 1 & 3 are correct
(B) 2 & 3 are correct
(C) 1 &4 are correct
(D) 2 & 4 are correct

(20)

Q137. T TGS 1 T T A T 1

?
THaT e oot lzﬁﬂ%@ﬁ(ﬁw;ﬁm%’q}o
(A) 10 cm (B) 12 ¢m '
(C) 16 cm (D)8 cm

1 S5x
Q138.7f 2x + 5= = 5,7 6x2420x3 VAR,

1 1
Ay (B) P
1 1
©3 (D);

QI30. 7 x +7 = 2T x # 0, A7l 2 +iag
T

Q
A1 (B)2
(©)3 (D)4
14876543 X876545
QI40. TAH : 876544 X876544
(A)1 (B)0
C) -1
© D)2 2

Qu1. 3R x (3-2) =AW+ wwy
L
22
A5
-22
(B)—5-
-2
©)—

D=

Q142. Frfefiaa et w frem it
S 2 Hief v wfisde w
L. ST 1T e B ¥
2. STH IV HR B §
3. FRE I A §
4. FHE o] O BN &

(A1 &35T%
B)2&38? ¢
© 1 & 4Tt
(D)2 & 4T
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{ Qu43. In the given figure, AC || BD,zCAF =
259, £DBG = 65° and BF = BA, then 4BFE is
equal to:

(A) 90°

(B) 155°

(C) 140°
q (D) 165°

Q144. For a triangle ABC, which of the following is
true?
(A) BC? - 4B? = Ac?
(B) AB — AC = BC
(C) (4B — AC) > BC
(D) (4B - AC) < BC

Q145. In the given figure O is any point on the
bisector of the acute angle XYZ. The line OP

& is parallel)}o ZY.Then AYPO'is :
P 0
Y 2
(A) Scalene

(B) Equilateral
(C) Isosceles but not right angled
(D) Isoceles and right angled

Q146. If AB, mzA and mzC are given, the
number of triangles that can be constructed
with this data, is :

(A) one (B) two
(C) three (D) nil

Q147. Qut of the fractions ; Z ; 2 and —

'13'7'15 14
which is the third highest ?
5 7
(A)3 (B)
4 9
(€5 O
2 (21)

Q143. = few wmu R H, AC || BD, 2CAF =
25% 4DBG = 65° 3 BF = BA, 9l 4BFE
W% :

A
(A) 90°
(B) 155°
(C) 140°
(D) 165°

Q144. T fingst ABC ¥ fer, Frrferfiaa & & i & ver
i
(A) BC* — AB* = AC?
(B) 4B — AC = BC
(C) (AB — AC) > BC
(D) (AB — AC) < BC

Ql145. &1 ¢ T § O =V XYZ % wafgTsi® W
1§ fiig &1 a1 Op, 2y 3w &1 7@ AYPO #:

(e}
Y Z
(A) Fawmarg
(B) §HeTg
(C) TfzaTg SfeF aaentor 787
(D) TATEATE R Hwahior
Q146. 3f% AB, m£A it msC Ry s g3y
Ffifa for s aret gt < e &:
(A) T B) 3
(Okicy (D) @
5 7 4 4 9
Q147. firs ;,E,;,Eaﬂt;ﬁ%mmm
[EEEaCk: &)
OF ®=
4 9
©)3 O
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1 (121)2-(8.1)2 .

Q148. The value of: X ‘_—'—(0.25)(0.25+19.95) is:
(A)8 (B) 4
€1 (D)3

Q149.The least number which is a perfect square
and has 7936 as one of its factors is equal

to:
(A) 61054 (B) 246016
(C) 61504 (D) 240616

Q150. If a* = b, bY = ¢ and xyz = 1, then value

ofcZis:
(A)a (B) b
(C)ab (D) a/b

Q151. If p = 124 then p(p? +3p + 3) + 1is:
(A)5 (8)7
(C)123 (D) 125

Q152. A fruit seller has a crate of apples
containing one bruised apple for every 40
apples in the crate. If 3 out of every 4
bruised apples are considered unsaleable
and there are 9 unsaleable apples in the
crate, then how many apples are there in

the crate?
(A) 500 (B) 390
(C) 632 (D) 480

Q153. On Children’s Day, sweets were to be
equally distributed amongst 300 children.
But on that particular day 50 children

remained absent hence each child got one -

extra sweet. How many sweets were

distributed?
(A) 1450 (8) 1700
(C) 1500 (D) 1650

Q154. The average age of a man and his two
twins sons born on the same day is 30
years. The ratio of the ages of father and
onesonis 5 : 2, what is the father’s age?

(A) 55 years (B) 50 years
(C) 45 years (D) 30 years
(22)

12.1)2-(8.1)2
mw§XJ( e,

(0.25)(0.25+19.95) ™" :
(A)8 (B) 4
©1 (D)3
Q149. mwmﬁ@@ﬁ%mﬁmw
TURES 7936 &, T foah w3 !
(A) 61054 (B) 246016
(C) 61504 (D) 240616
Q150. A& a* = b, b” = ¢ 3 xyz=1, 4 c2 -ﬂ?mr]
2 :
(A)a (B)b
(C)ab (D) a/b |
QI51. AR p = 1247 Yp(p? + 3p +3) + I wAm ey
(A)5 (B) 7
(C) 123 (D) 125

Q152. Th el fashar & U ¥ 1 = T 2 fiw
e 40 3 F 10w o 3 4 7R v
Qe &4 § F 3 R Fht 9 9@ gmram e @
T 9 Tt 2y o 7 €, A A 3 e A
(A) 500 (B) 390

(C) 632 (D) 480

Q153. a1t femrw W 300 ===l # www & & frargdl @
ST off) <ifeT 3w fodi R 50 = argf
R e ) sttt e
Tt atét éh
(A) 1450 (B) 1700

(C) 1500 (D) 1650

ma.mmammagsaﬁiwmaﬁwl

‘?.Eﬁaﬂaaangmaﬁlﬁmaﬁ(@?ﬁx

AT 5:2 %, frar A sy w2

(A) 55ad (B) 50 T4

(C)45=d (D) 30ad
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auss. simplify: 43+ [23+ { =3 (5 +2)}]
() 22 (8) =

©% (mﬁ

i1:).156. 50 Kg is what percent of 250 Kg ?
(A) 5% (B) 15%
(C) 20% (D) 25%

Q157. Which of the following figure have exactly
two lines of symmetry?
(A) Line
(C) Triangle

(B) Rectangle
(D) Square

Q158. A circular road runs around a circular

) garden. If the difference between the
circumference of the outer circle and inner
circle is 44 m, then the width of the road is :
(A) 7 m (B)S5m

; (C)6.5m (D)7.5m

.Q159. ABCD is rhombus and £AEF = 50°. Find x :

M A - B
5 -
D c
(A) 15° (B) 20°
(C) 35° (D) 25°

{

30160. If in a hostel, food is available for 45 days
for 50 students. For how many days will this
food be sufficient for 75 students?

(A) 25 days (B) 28 days
(C) 30 days (D) 40 days

Q161 If Akshay is as much elder than Vinay as he
is younger to Kartik and sum of ages of
" Vinay and Kartik is 48 years, then find the

age of Akshay.
(A) 21 year (B) 22 year
(C) 23 year (D) 24 year

: (23)

QIss. W Ft: 41+ [21+ {l-i(i--g)}]

2\3

= ®)%
©F (D)

Q156. 50 fareimm, 250 e =1 e Tfaed 82
(A) 5% (B) 15%
(C) 20% (D) 25%

Q157. Frmfufaa # & frm s & amiufa & Faw A
¥
(A) @
(C) B

(B) 31gd
(D) &

Q158. T FuTehI I ok AT 3T U JaATHR 68 ol A
aTel 99 37K i ga 4 aftf & = # F

44 HieT &, aY gew il HIeE 8
(A) 7 1T (B) 5 #iX
(C) 6.5 HIX (D) 7.5 HieX

Q159. ABCD U WHAqHS & 3R LAEF = 50°. X FT0H
FEAH

A B
50°
D c
(A) 15° (B) 20°
(€)35° (D) 25°

Q160. afz fordt sEmEm 1 50 3@l F fow 45 &1 9%
HIeH 39y 81 T8 HieH 75 frenfial & fou et
fert o vt g

(A)25 = (B) 28 &=
(€)30fE (D) 40 &7

Q161. 3 37, o 4 3qT € w91 & e i @
o1 ® 3K o o wfder Fr sw A ag @,
A g A IWTEHY
(A) 21 7 (B) 2294
(C) 23 = (D) 24 7.
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Q162. X can do 20% of a work in a day, Y can do
25% of the same work in a day and X, Y and
Z together can do 50% of the same work in
a day. How many percent of work can be
done by Zin a day?
(A) 5% (B) 10%
(C) 15% (D) 20%

Q163. The speeds of three cars are in the ratio of
2:3:5. Find the ratio of the time taken by
the above cars to travel the same distance.
(A)15:6:10 (B)6:10:15
(C)10:15:6 (D)15:10:6

Q164. In 1 Km race, the ratio of speeds of two
contestants A and B is 3 : 4, A has a start of
280 m. Then A wins by how many metres?

(A) 40 m (B) 60 m
(C)a5 m (D) 65 m
DIRECTIONS:

Study the following table and answer the
questions (165 to 168) that follows:

Number of entertainment shows (in_hundreds)
held in various cities in a year

Show
City | Dance | Music | Drama | Standup | Mimicry
comedy
M 15 21 24 0.8 0.9
N 124 13 26 2 0.5
0 5.7 8 12 0.3 0.2
P 11.3 6 18 1 15
Q 17 124 |11 3 0.4
R 14 105 | 9.8 0.7 0.1

Q165. The mimicry shows held in city M are what
percent of the drama shows held in city 0?
(A) 6.5 (B)7.5
(c)85 (D) 9.5

Q166. What is the average number of
entertainment shows held in city P?
(A) 756 (B) 267
(c) 780 (D) 295

(24)

Q162. X T & # 20% T F TFa 2, vy 35 ‘
zS%W%ﬁmm%aﬂtX,ymzﬁ;x
3t T H 50% @ﬁaﬁmmgum?
o i oy wiferera e o < v 29 "
(A) 5%  (B)10%
(C) 15% (D) 20%

Q163. F it AT A 2:3:5 % qma 7 i
mmiﬂmﬁﬁmwmwm%
Hhifs
(A)15:6: 10
(C)10:15:6

(B)6:10:15
(D)15:10:6
%
Q164. 1 Tereitet it 2g H, 2 Tl A i p 4,
w1 I 3: 4 B A F I 280 Wiex A ey

Tga e, ar A Fera diet & sfiaa &2

(A) 40 m (B) 60 m

(C) 45 m (D) 65 m
-

Frefertaa arfere =1 sreaaa it o Prafafan
(165 & 168) & I &:

e 99 7 AR wedl # sratad wee s
AT (@he H)l

FWESCET
T | g | @i | gmn | 2veem | e
HIAST 1
M |15 21 24 0.8 0.9
N |124 |13 26 2 0.5
o |57 |8 12 0.3 0.2
P |113 s 18 1 15
Q [17 124 |11 3 0.4
R |14 105 9.8 0.7 0.1
Q165. I& M & riifsra fftrsh W, wee O & Ak
B T ST i 6T P i 7 ]
(A)6.5 : (B) 7.5
€8s (D)9.5

QI66. P JT&T 7 ST HA HRiswAl 41 JATaa 8
&2

(A) 756 (B) 267
€780 (D) 295
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q167. What is the number of standup comedy
shows held in all the cities together?
(A) 720 (B) 700
(C) 780 (D) 756

168. If the number of music shows in cities N
and Q is increased by 5%, what will be the
total number of music shows in both the
cities together?
(A) 2000
(C) 2517

(B) 2667
(D) 2670

Q169. In the figure given below YZ || MN, XY || LM
& XZ || LN then MY is:

L

i (A) Angular bisector of ZLMN
(B) Perpendicular to LN
(C) Median of A LMN
(D) Perpendicular bisector of LN
Q170 ABC is a right-angled triangle such that
AB=a—-b,BC=aandCA=a+b.Dis
" a point on BC such that BD = AB. The
ratio of BD: DC for any value of @ and b is

| given by:
| (A) 3:2 (8) 4:3
(C)5:4 (D) 3:1

My

2171. The perimeter of a rectangle is 52 cm. How
long is each side if the width is 2 cm more
than one third of the length?

(A)4cm & 8cm (B)6 cm &9 cm

. (018cm&16cm  (D)18cm&8cm

(25)

LY

QI67. Tt TTEtT i fireat ST Bt ATl Rgerd Fel
it 1 e Pra &7
(A) 720
(C) 780

(B) 700
(D) 756

Qtas.uﬁqumﬁﬁwﬂmﬁaﬁd@u%aam
3 it S aret 1 e i o gt wen fe ERi
(A) 2000 (B) 2667
(C) 2517 (D) 2670

Q169. i few my for & YZ || MN, XY | LM & XZ ||

LN & MY &1 & 2:
L

M X N
(A) ZLMN I Fvfia gafzes
(B) LN & waad

(C) A LMN i #feasht

(D) LN &1 Sgad GHiedTeS

Q170. ABC & wwsv frywr @, e AB=a—b,
BC=a3RCA=a+b.BC R gD ™
w#R 3 BD = AB. a3 b Fiwt fAqea s
fUBD: DC T AT FT &I :
(A)3:2 (B) 4:3
(C) 5:4 (D) 3:1

Q171. T A =1 qftwy 52 &t ¥ A <eE daE F
e forerd & 2 Ry afiren R o el v Rt e
&
(A) 4 37t & 8 Bt
(C) 18 ¥t & 16 T+t

(B) 6 At & 9 Arft
(D) 18 ¥t & § At
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Q172. If a + b + ¢ = 0 then the value of

1 1 1
al+b?-c? + bi4ci-g?  qlycl-p2 is:
(A)O (8) 1

(€)3 (D)2

Q173. How many numbers are there between
4000 & 6000 which are exactly divisible by

32, 40, 48 and 60?
(A) 2 (B) 3
(C)4 (D)5

Q174. In a fire range, 4 shooters are firing at their
respective targets. The first, the second, the
third and the fourth shooter hit the target
once in every 5 sec, 6 sec, 7 sec and 8 sec
respectively. If all of them hit their targets
at 9:00 am, when will they hit their targets
together again?
(A) 9:04 am
(€)9:14 am

(B) 9:08 am
(D) None of these

Q175. The number 58129745812974 is divisible

by:
(A)11 (B)S
(C)a (D) None of these

(26)

Q172. 3 a + b + ¢ = 0 & F=fafad =1 R 7= a2

1 1 1
at+b?-c? b*+ct—-a? a'+ci-b?

(A)0 (B) 1
()3 (D)2

Q173. 4000 31T 6000 F = UHT frat demd & A 32,
40, 48 1T 60 & yofa: ferrsa &
(A)2 (B)3
©4 (D)5

Q174. TF B & # 4 fFomam s w-1 95 W
et F @ @ veen, T@w, dma i
e e U 5 @, 6 Ahs, 7 H9e 3
8 e i UF an o W e v 21 3fE o
I 9:00 74 A9 w1ed 9 e o €, /1 A
T |1 39 T T e s e 2
(A) 9:04 am (B) 9:08 am
(C) 9:14 am (D) 378§ FTE 7ET

Q175. HEAT 58129745812974 fFad favr=w &7
(A)11 (B)5
©4 (D) 0 8 F1$ T
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Q176. If A is the brother of B; B is the sister of C;
and Cis the father of D, how D is related to
A?
(A) Brother
(B) Sister
(C) Nephew
(D) Cannot be determined

Q177. Introducing a boy, a girl said, "He is the
son of the daughter of the father of my
uncle." How is the boy related to the girl?
(A) Brother (B) Nephew

(C) Uncle (D) Son-in-law

1Q178. Cup: Lip :: Bird :?

INTELLIGENCE TEST

Q176. 3R A, BF W §; B, cHIagT e, AR C, DFH
far2, D, A ¥ for wepTt weifer 87
(A) 71§
(B) =ed
(C) welts
(D) Freifta a1 fepa <im Fed

QI77. T gt 3 T w5 U I G FE, "
e ¥ firan A 4 o1 Fer {1 wgH wgn
forer e Heifird &7

(A) Grass (B) Forest

(C) Beak (D) Bush
Q179. Paw: Cat :: Hoof: ?

(A) Lamb (B) Horse

(C) Elephant (D) Tiger

Directions for Q180:

In following question, you are given four series
of questions you have to find out the next series
from the answer figures that follows the
sequence of the following figure.

Q180.
Question figure

POV

(a) (b) (c) (d)

Answer figure

@A [l ][E)

(A) ¥ (B) *wftsT

(C) == (D) 3rTe
Q178. Tq: BT& :: TafT :?

(A) 7 (B) =

(€)== (ELE
Q179. d=: fereedt :: X ?

(A) g FT = - (B)HIST

(C) wreit (D)=
fRen-fgr Q180:

Frerferftaa et #, Straet WA i 9R e TS E,
SATTHY T SATHTAT T ST ST 7T HEAT & A
FrferRaa STwTa 3 STTHT T STTER0T HTT 8l

1 2 3 &
(A)1 (B)2
(€)3 (b)4

(27)

Q180.
T S

AN IORNIRRY
(a) (b) (c) (d)
I IAFH .
OIATE A
1 2 3 4
(A)1 (B) 2

(€)3 (D) 4
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Directions for Q181:

Following question has four alternatives, among
which one completes the figure.

Qi81.
A
A2 XJ <
@ ® (© @
(A) (a) (8) (b)
(Q) (c) (D) (d)

Q182. If the total sum of numbers on opposite
faces of a cubical block is always 7, find the
figure which is correct?

PP P

(A) (B) (C) (D)
(A) (A) (B) (B)
() (D) (D)

Directions Q183: If a Paper (Transparent Paper)
is folded in a manner and a design Cut or pattern
punched is made. When unfolded this paper
appears as given below in the answer figure.
Choose the correct answer figure given below.

Qie3.
w )j ® ¢ " & . 2?
(A) (a) (8) (b)

(C) (c) (D) (d)

(28)

feon-fger Q181:

ﬁqﬁﬁaanaﬁwﬁmﬁ,ﬁ,ﬁﬁmﬁm .
BT gl W
QI81.

L7 <

(@) ® (0 ()

(A) (a) (B) (b)
(C) (c) (D) (d)
Q182. af% ek TR w1 o fawdia wedl w Hemi 5
el AT T 7 8, 1 TE ATHET I H A G
‘ @ @ '
(A) (B) (C) (D)
(A) (A) (B) (B) (
(@(Q (D) (D)

fRn-fder Q183: afy fenelt swrrer (aeaedt wvre) =t
3 A HigaR U g we At ded v R am dl
W U AT T A o7 T I ATHI o 7w |
fod 3 1 R Rumy v s R aram s

QI83.

..........

----------

M e LE
= ] (¥

(A) (a) (8) (b) |
©)e) O@
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Q184. One day, Bobby left home and cycled 20
km southwards, turned right and cycled 10
km and turned right and cycled 20 km and
turned left and cycled 20 km. How many
kilometers will he have to cycle to reach his

home straight?
(A) 50 km (B) 40 km
(C) 30 km (D) 20 km

Q185. Ajay is to the South of Vijay and Chetan is
to the East of Vijay, in what direction is Ajay
with respect to Chetan?

(A) North-East
(B) North-West
(C) South-West
(D) South-East

Q186. COME is related to EOMC, in the same way
HOME is related to
(A) EMOH
(C) IPNF

(B) EOMH
(D) FNPI

Q187. In a certain code language, POPULAR is
coded as QPQVMBS, which word has the

code GBNPVT?
(A) FRAMES (B) FARMES
(C) FAMOUS (D) FARMER

Q188. If in a certain language CHARCOAL is coded
as 45164913 and MORALE is coded as
296137. How is the word ROCHEL coded in
this language?
(A) 694573
(C) 673958

(8) 693578
(D) 693857

Q189. If in a certain language CHARCOAL is coded
as 45164913 and MORALE is coded as
296137. How is the word COLLER coded in
this language?
(A) 397758
(C) 483359

(B) 497758
(D) 493376

(29)

Q184, O fo, =it st & Fareett 3t 20 Fopefy 2feqor o <
wrsfra werrdl, 2 g 3R 10 frd At
el S and g3 man 3w 20 Feft At werd
st areff s g T 3 20 Fft e e
@Y sy e wE F fag @ Pran i
A T 2nfi?

(A) 50 Fdt (B) 40 Feft
(C) 30 farrft (D) 20 fsft
Q185 3w ferera 3 afegon 3 & o e P F A A 2,
a3 ey i arer o e 27
(A) FT-IH
(B) I-afam
(C) afeurafim
(D) feor-g

Q186. COME i &=l EOMC | 2, 7t WK HOME &1

ey B
(A) EMOH (B) EOMH
(C) IPNF (D) FNPI

Q187. T ffir #re w91 #, POPULAR %I QPQVMBS
¥ =7 § Fifeq Fear wmr 2, Brg wee @ @IS

GBNPVT &7
(A) FRAMES (B) FARMES
(C) FAMOUS (D) FARMER

Q188. e it fifira simar f CHARCOAL F1 45164913
¥ w9 ¥ =ifeq fear ST € 3 MORALE =i
296137 ¥ &Y ¥ Fifea fFar Sar 81 39 W §

ROCHEL 752 %I %d shifed foam smam?
(A) 694573 (B) 693578
(C) 673958 (D) 693857

Q189. afe ws fifirg smar § CHARCOAL =t 45164913
¥F w9 # wifeq ka1 ST @ 3t MORALE =t
296137 F &7 ¥ Hifeq fFam smar 21 39 wwr §

COLLER 152 &I & shifea fomr smom
(A) 397758 (B) 497758
(C) 483359 (D) 493376
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Direction (190-194): Choose the odd one out.

Q190. Odd one
(A) Stethoscope
(B) Telescope
(C) Periscope
(D) Microscope

Q191. Odd one
(A) Ramayana
(B) Mahabharata
(C) Upnishad
(D) Pancnatantra

Q192. Odd one
(A) Monsoon
(B) Hurricane
(C) Cyclone
(D) Tempest

Q193. Odd one
(A) Graphite
(B) Coal
(C) Diamond
(D) Pearl

Q194. Odd one
(A) Wave
(B) Tide
(C) Current
(D) Storm

Direction (195 - 1999) Complete the series

Q195. 1,4,9,16, 25, ?

(A) 35 (B) 36

(C) 48 (D) 49
Q196. 20,19,17,?,10,5

(A)12 (B) 13

(C)14 (D) 15

(30)

T (190-194): FRwm =TT

Q190. fawm
(A) S
(B) Zefierid
(C) A=
(D) ATSFHRAT

Q191. faam
(A) THET
(B) HETIId
(C) 3ufa
(D) W=

Q192. fawm
(A) HTTHT
(B) T
(C) Ikt
(D) TP

Q193. fawm
(A) Tr5E
(B) Hraar
(C) ¥
(D) =it
Q194. faum
(A) &
(B) 5a
(C) FemH
(D) g%

B (195 - 199) staem gt

Q195.1,4,9,16, 25, ?

)35 (B) 36
(C) 48 D) 49
Q : 96- 20' 1 9’ l7|?v | 0,5
W12 (B)13
(©) 14 )18
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0197- 2,3'517l111?117 Q 197- 2.3.5;7.1 1071 ] 7

(A) 12 (B)13 (A) 12 (B) 13

(C) 14 (D) 15 () 14 (D) 15
0198. 144,121,100,81,? Q198. 144,121,100,81,?

(A) 75 (B) 65 (A) 75 (B) 65

(C)70 (D) 64 (C)70 (D) 64
Q199. AE, FJ, KO, ? _ Q199. AE, FJ, KO, ?

(A) PT (B) PO (A) PT (B) PO

(C) PV (D) PF (C) PV (D) PF

Q200. Pointing to a photograph of a boy Suresh ngg,@é@ﬁﬁ‘ra‘{zﬁtﬂ TR AR A §C G A e,

said, "He is the son of the only son of my ..agaﬁqia;maémaa%n"{fmwaﬁﬁ
mother." How is Suresh related to that boy? fore ST Eeif 27
) ot o) srther o fom @
(C) == wig (D) ¥
(31)
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